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QUESTION 1

Which are two benefits of integrating Cisco UCS C-series servers with Cisco UCS Manager? (Choose two ) 

A. Cisco UCS Manager provides the ability to automatically update C-series firmware and device drivers from a single
global interface. 

B. Cisco UCS Manager provides the ability to manage C-series in multiple physical domains from a single global
interface 

C. Cisco UCS Manager uses service profiles and resource pools to allow the deployment of multiple servers with a
single common template 

D. Cisco UCS Manager is able to act as a common centralized management platform for both blade and rack servers in
a single domain. 

E. Cisco UCS Manager can automatically power on and off servers to scale elastically according to application
performance demands 

Correct Answer: CE 

 

 

QUESTION 2

Which two statements describes connecting the IO Modules in the UCS chassis to the Fabric interconnects? (Choose
two ) 

A. Connect Fl-A to the IOM B of each chassis 

B. Connect Fl-B to IOM A and IOM B in each chassis 

C. Connect Fl-A to the IOM A of each chassis 

D. Connect Fl-A to IOM A and IOM B in each chassis 

E. Connect Fl-B to the IOM A of each chassis 

F. Connect Fl-B to the IOM B of each chassis 

Correct Answer: ACF 

 

QUESTION 3

Which are two Application Gateways primary roles? (Choose two ) A. Manage configuration changes during FSM
transitions 

B. Communicate with virtual machines and report health and state 

C. Automate updates to the XML Database 
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D. Communicate with end points and report their health and state 

E. Manage configuration changes made with UCS Manager 

Correct Answer: AC 

 

QUESTION 4

When it comes to pinning vNIC traffic from a UCS Server to the Fabric Interconnect uplink what configuration can you
perform? 

A. You can configure Automatic Uplink Pinning. If an uplink interface fails on one Fabric Interconnect, the server will fail
to the first available uplink on the other Fabric Interconnect 

B. You can configure Static Uplink Pinning. If an uplink interface fails on one Fabric Interconnect, the server will fail to
the first available uplink on the other Fabric Interconnect 

C. You can configure Automatic Uplink Pinning. If an uplink interface fails on one Fabric Interconnect the server will fail
to the matching uplink on the other Fabric Interconnect 

D. You can configure Static Uplink Pinning. If an uplink interface fails on one Fabric Interconnect, the server will fail to
the first available uplink on the same Fabric Interconnect 

E. You can configure Static Uplink Pinning. If an uplink interface fails on one Fabric Interconnect the server will fail to
the matching uplink on the other Fabric Interconnect 

Correct Answer: A 

 

QUESTION 5

If a Cisco UCS B-Series server fails to initialize, which method of access is required to troubleshoot? 

A. Use direct console access to troubleshoot initialization 

B. Use Cisco UCS Manager GUI to troubleshoot initialization 

C. Use Cisco UCS Manager API to troubleshoot initialization 

D. Use KVM console to troubleshoot initialization 

Correct Answer: D 
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